Unit 2 Review Y= Sx—~ )

(Chapters 3-6)

1. Graph 3x-y= 1.
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3. Find the value of r so that the line through (2, —3) and (—4, r) has a slope of — 1 3. r - 0
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4. A giraffe can travel 803!&:‘: in 20 seconds. Write a direct variation equation for
the distancetraveledin any time
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5. Find the 25th term of the arithmetic sequence with first term 7 and common _.'q \

difference 2.
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7. Write an equation of the line that passes through (-1 d -)' 5 V = Sx '—Z-v
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9. Write the slope-intercept form of an equation of the line that passe
(=2. 0) and is parallel to the graph of y =-3x - 2

10. The table below shows the distance driven during four

different trips and the
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9. Write the slope-intercept form of an equation of the line that passes through

(-2, 0)and is parallel to the graph of y =—3x — 2. C + b
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10. The table below shows the distance driven during four different trips and the E 120f 4 .
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exists, if any, in the data. Write an equation for a line of fit for the data, b - S oy EEEEEEEEEE
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Solve each inequality. m i,
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